ENCLOSURES

A Division of MUM Industries

1. Place Strut Rails over mounting flange holes on the back of enclosure
INTEGRA

P/N: PMKG-IMP-CLP |
IM PACT POLE MOU NTI NG KIT 2. Insert Pan Head Screw through mounting flange hole into Strut Rail.

Installation InstructionS' Place the Fender Washer and Nylok Nut on the inside of the rail and
secure. Note: Torque to 32 in-lbs Max.

The kit consists of the following components:
Strut Rails - QTY (2) Pipe Clamps - QTY (4)

Fender Washer 1/4” Nylok Nut.1/4-20 Square Nuts 5/16-18 . . . . .
QTY (4) QTY (4) QTY (2) 3. Place Pipe Clamps around pole in desired position and secure with

Square Nut and Hex Cap Screw. Note: Torque to 100 in-lbs Max.

Pan Head Screws 1/4-20 x 3/4” Long Hex Cap Screws 5/16-18 x 1- 1/4” Long
QTY (4) QTY (2)

=

Integra Enclosures, Ltd.
8989 Tyler Blvd | Mentor, OH 44060 | Phone: 440-269-4966 | Fax: 440-269-4977 | www.integraenclosures.com | INST-IMP-PMKG-CLP_REV_D




	Slide Number 1

